R#ETAN B #8| 02

RD )X (SHk4s®, A1 10%, Bi14740%, C#h25330% )
(1)  28L= dL (2)  04L= cm?®
(3)  82000cm® = L (4)  5.5dL= L
(5)  1.05m® = L (6)  200L= m?
(7)  0.5075L= mL (8)  0.01kL= L
(9)  860000mL= kL (10)  500dL= cm®
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(3)

(5)

(7)

(9)

9.95L=

90000cm? =

dL

3.75m?3 =

0.2012L=

mL

800000mL=

kL

(2)

(4)

(6)

(8)

(10)

0.08L=

1.5dL=

2500L=

0.1kL=

360dL=

DX (SH40®, Afk14y, B 17330%, C#k24 108 )

c1m

cm
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ZIOX. (SH4s®, A1 107, B 14740, C#k24330%)

* FEOEAM EFRIE 1000 F3OEHS. (*fIN 1LY v ML) =10dL(TY Y RIL))

* REE

1L(Y v ML) = 1000cm?

KL(¥m Y v kL)

L(Y vy k)

dL(7>VY v b))

ml(

VY

ko)

Hl3

cm?

CcC

1 1000 1000000 (F 1)
10 1000
(1) 2.8L=| 28 |dL (2)  04L=| 400 |cm
(3)  82000cm3 = | 82 |L (4)  5.5dL=| 0.55 |L
(5) 1.05m3 = | 1050 |L (6) 200L=1 0.2 [m?
(7)  0.5075L=| 507.5 |mL (8)  0.01kL=| 10 (L
(9)  860000mL= | 0.86 (kL (10)  500dL= | 50000

CIn
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(3)

(5)

(7)

(9)

DX (SH40®, Afk14y, B 17330%, C#k24 108 )

9.95L=

99.5

dL

90000cm?

3.75m?3 =

0.2012L=

800000mL=

90 |L

3750 (L

201.2 |mL

0.8 (kL

(2)

(4)

(6)

(8)

(10)

0.08L=

1.5dL=

2500L=

0.1kL=

360dL=

80

c1m

0.15

2.5

100

36000 [cm?
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